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One who captures a snake —wn TN

OVERVIEW

Among the three acts which are 70 (even though the ruling is 7w») is w1 7% (and
X0 ©°91). This wni 78 (as well as X0 007) is considered a 3"72¥KRW 72871 since
he has no use for the snake).! If we maintain that a 3"9¥Xwn is RNIRTA N0, we
can understand that under certain circumstances (such as 9127 X¥) it will be nm
even 11277, However if we maintain (as *"3 does) that a 3"2¥Xwn is RNMMRTA 27,
then there can be no leniency and it is always M0ORX, and if transgressed w2,
obligates one to bring a nXvr 129p. It would therefore seem that PXw agrees with
w"9 that a 2"92Rwn is Mo, Our MoOIN clarifies this issue.

mooIn asks:
— ININVIN ININVT M MaAYN bya nwpn

The 2"';72 asked that there is a contradiction between X2 and YRR -
— 1YY 2393 9V NONY N8 NIPRY NINYM YNIY 130 NINT

For here in this ruling of n%n °1n 12, etc. YRmw maintains that a 5"3Nw» is

(70K 9aR) Mwp, as W' maintains -
— Y RONT RIYY DIUN)

And therefore w1 7%77 is permitted 771027 because of XDIAT RIVX -
— 3)9Y 395 1Y 920 2119010 PRY 9272 )90 (x,2n 1np%) 1993 PI92)

However in 7% P95 the X7na states, ‘regarding a 3915072 1ORw 927, there XY

agrees with @''9 (that it is °1mn), however -
— 41117 %295 1Y 920 NANY NN NIIINY NANDNA

!'See previous 72 1"7 '0In footnote # 8.

2 A T1onn 1R 727 means he has no intent to do the 72871 (as opposed to a 3">¥Xwn where he is doing the act of the
TOR7M; see previous footnote). The classic case is where a person drags a bench on an earthen floor, where there is
the possibility that he may make a groove in the floor. If a person makes a groove in the floor of a house he is
transgressing the Mo°R of 2. Here however he has no intent in making a groove, he merely wants to move the
bench (by dragging it) from one place to another. w"" rules that it is 0w, while *" maintains that it is (312772) M0OK.
[If it is inevitable that a groove will be made by dragging the bench, then everyone agrees that it is MoX (this is
called N2 R9Y 7w pooD).]

3 The case there is when one emptied a hot kettle of water; 9X7W maintains that he can immediately fill it with cold
water, even if it may strengthen the kettle. (Placing cold water into a hot kettle has the property of strengthening the
metal [under certain circumstances]; this is called 77%¥n). The person has no intent to be 77¥» the kettle, merely to
warm up the cold water; it is considered a 1"1on» PRW 927.

4 5xmw rules there that one may extinguish a glowing piece of metal in the 7"77 (where it may cause damage), but
not a burning coal. Extinguishing metal is only 71277 70X, while extinguishing a coal is X077 MOK, provided
that it is extinguished for the purpose of using the ashes; otherwise it is a 2"¥Xw» and it will depend on the np1onn
between >"1 (who maintains 2°°17) and w"9 (who maintains 719). This proves that 21xnw agrees with > (regarding a
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Regarding a %'"'3xwn, there YX1mw agrees with "9’ that he is X% 271, How can
Wwn1 787 be ) Mwd; since it is a A"Y¥RWn, there is an XNMIRTA NOX; there is a XL 21°17 and it
cannot be My and certainly not nn?!

MO0IN answers:
— 9INP INMYT 0N 13°39 XM

And the n''1 answered that X said -
— 95199 99 NYN 3N VO NONY NN NINRY NANYNI 9INT 51\”’9\’) 14999

That according to @'"= who maintains that a 3"">2Nw» is 21D, in these three

cases he will be anmy 1wp -
— 9IRP 991 IOV INTT (N,‘P ov) MMIND 902 SNINY NYINY S

As PRmw proves in the end of 3787 1o that certainly the mwn (according to

¥"9) meant TN MWD -
— PYNY 295 N’Y X920 XD )

However, >x1w does not agree with @''9 that a 3">xxwn is Mo (rather he agrees with

" that one is 211 for a 2"2¥RWn).
— PYRY 1399 19 NNRMP 1179 17199

However, we follow the ruling of @' regarding a 3"73xwn that it is (MOX 228) MWD

H(a,xnp 0w) 909 W9 N 920 NNINA MHNT NaYY
for 839 who was from the later 2°X7 X agrees with @' as is mentioned in the
beginning of w11 pao.

SUMMARY

X)W maintains that a 2"xXwn is 21 (like °") and a >nn PRW 127 is M (like
w"). The 7awn of Mo wni 737 follows the view of w1 and PR explains that it is
amn. The 7597 is that a 2"¥xwn is M.

THINKING IT OVER
Seemingly PX1W is teaching us that in three places the term Mo in the 71wn means
27 Mo, What is the contradiction between 2X1w and Sxmw?!¢

S"erwn) for otherwise he would permit even extinguishing a coal in the 1"77 in order to prevent damage to the
public, if it would only be 7312771 710K.

5 The mwn in N7y which states that (X077 ©om1) w1 737 is MWD, obviously agrees with w" (that a 2"¥xwn is Mwd)
for according to *" he is 211. The ruling of PX1nW is that this 71wn, when it states wn1 7¥7 is 7Mw2 (according to w"),
means that it is 01 MW5.

6 See w X nmn.
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